


•बिना दरुी तय बिये, आप िहीं दरू नहीं

जा सिते 



• Mukesh is 40 years old and he is five times as old as his brother Rohit. When 

Mukesh is thrice as old as Rohit then age of Mukesh is

• मिेुश 40 वर्ष िा ह ैऔर वह अपने भाई रोबहत से पाांच गनुा िडा ह।ै जि मिेुश िी आय ुरोबहत िी 

आय ुिी तीन गनुी ह,ै तो मिेुश िी आय ुबितनी ह?ै



• In ASEAN Summit, all leaders shake hands with each other once. How many 

handshakes will there be altogether if there are 15 leaders?

•आबसयान सबमट में सभी नेता एि-दसूरे से एि िार हाथ बमलाते हैं। यबद 15 नेता हों तो िुल बितने 

हाथ बमलाये जायेंगे?



Choose the correct mirror image of the given figure (X) from amongst the four 

alternatives ?

• चार बविल्पों में से दी गई आिृबत (X) िी सही दपषण छबव चनुें?



• It is 15 past 7 by a clock, Find out at what time both the hands would form 90°

angle for the first time?

• घडी में 7:15 िजे ह ैबिस समय दोनों सइुया पहली िार 90 बिग्री िे िोण पर होंगी? 

A.7:20 
4

11

B. 7:21
9

11

C. 7:51
5

11

D.7:6
9

11



• If 14 Sep 2001 is Friday. Which would be the day of week on 14 Sep 1961?

• यबद 14 बसतम्िर 2001 िो शकु्रवार ह।ै 14 बसतांिर 1961 िो सप्ताह िा िौन सा बदन होगा?

A. Thursday

B. Friday

C. Monday

D. Wednesday 



• The following equation becomes mathematically correct when you interchange 

either the sign or the numbers as indicated in the question. Find the correct 

alternative. 

• बनम्नबलबित समीिरण गबणतीय रूप से सही हो जाता ह ैजि आप या तो बचह्न या सांख्याओ ां िो 

िदलते हैं जैसा बि प्रश्न में दशाषया गया ह।ै सही बविल्प िोजें।

• Given equation : 2 × 3 + 6 – 12 ÷ 4 = 17

A. × and +

B. + and –

C. + and ÷

D. – and ÷



• Find number of triangle in figure?

•आिृबत में बिभजुों िी सांख्या ज्ञात िीबजए?

A.5

B. 6

C. 8

D.10



• Statement : It is desirable to put the child in school at the of 5 or so

• िथन: यह वाांछनीय ह ैबि िच्चे िो 5 या इससे अबिि उम्र में स्िूल में रिा जाए

• Assumptions :

I. At that age the child reaches appropriate level of development and is ready to 

learn.

II. The schools do not admit children after six years of age.

• िारणाए:ँ I. उस उम्र में िच्चा बविास िे उपयकु्त स्तर ति पह चँ जाता ह ैऔर सीिने िे बलए तैयार 

होता ह।ै 

• बितीय। स्िूल छह साल िी उम्र िे िाद िच्चों िो प्रवेश नहीं दतेे हैं।



• Find the next term. अगला पद ज्ञात िीबजए

• 2, 15, 41, 80, ?

A.111

B. 121

C. 120

D.132



• Find the next term. अगला पद ज्ञात िीबजए

• 2, 3, 8, 27, 112, ?

A.226

B. 339

C. 452

D.565



• Radha and Minnilal have two children, Simmi and Divya, Divya is married to 

Anuj, Madhur and Jabbar's son. Silk is the son of Anuj. Anuj's sister Kiran is 

married to Subodh and they have two sons Tarun and Aman. Tarun is the 

grandson of Madhur and Jabbar.

• रािा और बमन्नीलाल िे दो िच्चे बसम्मी और बदव्या हैं, बदव्या िा बववाह अनजु से ह आ ह ैजो 

मिरु और जब्िर िा िेटा ह।ै बसल्ि, अनजु िे िेटे हैं। अनजु िी िहन बिरण िा बववाह सिुोि से 

ह आ ह ैऔर उनिे दो पिु तरुण और अमन हैं। तरुण मिरु और जब्िर िा पोता ह।ै

• What is the relation between Aman and Kiran?

• अमन तथा बिरन िे मध्य क्या सांिांि ह?ै

A. चाचा-भतीजी

B. पबत-पत्नी

C. माँ-िेटा 

D. ममेरे भाई - िहन



• A person starts from his house towards north and covers 16 km. Covers a 

distance of 5 km and then takes a left turn and travels 8 kms. travels to He again 

takes a left turn and walks 32 kms. After traveling 8 kms, again on the left side. 

travels to and stops. How far is he from his home?

• एि व्यबक्त अपने घर से उत्तर िी ओर चलता ह ैऔर 16 बि.मी. िी दरूी तय िरता ह ैऔर बिर 

िायीं ओर मडुता ह ैऔर 8 बि.मी. िी यािा िरता ह।ै वह बिर से िायीं ओर मडुता ह ैऔर 32

बि.मी. िी यािा िे पश्चात, बिर से िायीं ओर 8 बि.मी. िी यािा िरता ह ैऔर रुि जाता ह।ै वह 

अपने घर से बितनी दरूी पर ह?ै A. 14 बि.मी.

B. 8 बि.मी.

C. 22 बि.मी.

D. 16 बि.मी.



• In a row of 25 children, Piyush is 14th from the right end. Chirag is third to the 

left of Piyush in the row. What is the position of Chirag from the left end of the 

row?

• 25 िच्चों िी एि पांबक्त में, पीयरू् दायें छोर से 14वाां ह।ै बचराग पांबक्त में पीयरू् िे िायीं ओर तीसरा 

ह।ै पांबक्त िे िायीं छोर से बचराग िा स्थान क्या ह?ै

A. 8वाां

B. 7वा

C. 9वाां 

D. 10वाां



• 10 cm From a cube of side 2 cm. How many cubes with sides can be obtained?

• 10 से.मी. भजुा वाले एि घन से 2 से.मी. भजुा वाले बितने घन प्राप्त बिये जा सिते ह?ै

A.5

B. 25

C. 125

D.500



• If SMART is coded as UKCPV, then WONDER is coded as?

• यबद SMART िो UKCPV िोि में बलिा जाता ह,ै तो WONDER िो बिस िोि में बलिा 

जाएगा?

SSC CGL Tier-I
A. YMPPRT

B. YMPBGP

C. YMPBFP

D. YMBPPG



• PRINTING: RPNIITGN :: PROTOCOL: ?

A. RPTOCOOL

B. RPOTCOLO

C. PRTOOCOL

D. RPTOCOLO

SSC CGL Tier-l



• Five people are sitting in a row facing you. Y is to the left of X; W sits to the 

right of Z. V sits to the right of X and W sits to the left of Y. If Z sits at one of 

the ends of the row,

• So who is sitting in the middle?

• पाँच लोग आपिी ओर मुँह िरिे एि पांबक्त में िैठे हैं। Y, X िे िाई ां ओर ह;ै W, Z िे दायीं ओर 

िैठा ह।ै V, X िे दायीं ओर िैठा ह ैऔर W, Y िे िाई ां ओर। यबद Z पांबक्त िे एि छोर पर िैठा हैं,

• तो िीच में िौन िैठा ह?ै A. V

B. Y

C. X

D. Z


